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QUESTION 1

Oracle\\'s unified data management platform provides analysts with the ability to execute a single SQL statement across
many data stores.

Which three are data stores the SQL can be executed in?
A. NoSQL databases

B. Hadoop clusters

C. Object-oriented databases

D. Directory service store

E. Relational databases

Correct Answer: ABE

Reference: https://www.oracle.com/technetwork/database/bigdata-appliance/learnmore/
bigdatasgloverview21jan2015-2408000.pdf (page 5)

QUESTION 2

What is the result of the FLATMAP () function in Spark?

A. It always returns a new RDD by passing the supplied function used to filter the results.

B. It always returns a new RDD that contains elements in the source dataset and the argument.
C. It always returns an RDD with 0, 1, or more elements.

D. It always returns an RDD with identical size of the input RDD.

Correct Answer: A

Reference: https://backtobazics.com/big-data/spark/apache-spark-flatmap-example/

QUESTION 3

Which different types of network communication protocols does Hadoop use?
A. Hadoop UDP, Direct TCP/IP, and HTTP

B. Hadoop TCP, Direct TCP/IP, and RPC

C. Hadoop RPC, Direct TCP/IP, and HTTP

D. Hadoop UDP, Direct TCP/IP, and HTTPS

Correct Answer: A
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QUESTION 4

Which component provides resources for dynamic high-performance processing in Big Data Cloud Service?
A. Edge Node

B. Permanent Node

C. Compute Cluster Node

D. Network Cluster Node

Correct Answer: A

QUESTION 5

ABC Media receives thousands of files every day from many sources. Each text-formatted file is typically 1-2 MB in size.
They need to store all these files for at least two years. They heard about Hadoop and about the HDFS filesystem, and
want to take advantage of the cost-effective storage to store the vast number of files.

Which two recommendations could you provide to the customer to maintain the effectiveness of HDFS with the growing
number of files?

A. Consider breaking down files into smaller files before ingesting.

B. Consider adding additional Name Nodes to increase data storage capacity.

C. Reduce the memory available for namenode as 1-2 MB files don\\'t need a lot of memory.
D. Consider concatenating files after ingesting.

E. Use compression to free up space.

Correct Answer: AE
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